
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

cuatro fracciones, decimales, orden de operaciones
con paréntesis

12( − 4, 9) ÷ 4 × 5 − =
5
2

2
1

5, 8 × 16 ÷ 4 − 4( + ) =
4
1

2
1

− 2( − 3, 9) =
2
3

5
3

× 20 ÷ 4 + 2(3, 9 − 4, 4) =
3
1

× 20 ÷ 4 − 4(4, 1 − ) =
2
1

2
3

12(5, 4 − ) ÷ 4 × 2 + 2 =
6
1

(3, 4 − 2, 9) × 3 − =
6
1

− 5( + 4, 7) =
3
2

3
2

× 8 ÷ 2 − 2(3, 8 + ) =
2
3

2
3

2, 2 × 9 ÷ 3 − 5( + ) =
5
2

3
1
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Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

cuatro fracciones, decimales, orden de operaciones
con paréntesis

12( − 4, 9) ÷ 4 × 5 − = (−68)
5
2

2
1

5, 8 × 16 ÷ 4 − 4( + ) = = 20
4
1

2
1

5
101

5
1

− 2( − 3, 9) = = 8
2
3

5
3

10
81

10
1

× 20 ÷ 4 + 2(3, 9 − 4, 4) =
3
1

3
2

× 20 ÷ 4 − 4(4, 1 − ) = (− ) = (−7 )
2
1

2
3

10
79

10
9

12(5, 4 − ) ÷ 4 × 2 + 2 = = 33
6
1

5
167

5
2

(3, 4 − 2, 9) × 3 − = = 1
6
1

3
4

3
1

− 5( + 4, 7) = (− ) = (−26 )
3
2

3
2

6
157

6
1

× 8 ÷ 2 − 2(3, 8 + ) = (− ) = (−4 )
2
3

2
3

5
23

5
3

2, 2 × 9 ÷ 3 − 5( + ) = = 2
5
2

3
1

15
44

15
14

www.snowmath.com

https://www.snowmath.com

